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Dec 2023 (Backlog) EXAM
F.Y. B. TECH. (PATTERN 2018)
COURSE NAME: Engineering Mathematics I '
COURSE CODE: ES11181 o
Time: [2Hr] ' : [Max. Marks: 60}
(*) Instructions to candidates:
1) Use of scientific calculator is allowed
2) Use suitable data where ever required
3) Al questions are compulsory ' .
aestion Description Max. |CO | BT
Mark | map Level

Choose the Correct options

1 1 11 | 21 CO1
‘I) Rank of the matrix |2 2 2lis : ‘
. 3 3 3

a) 1 p2 ¢)3 49 None of these

ey - . . — 1 T .
ii) If A isan Skew symmetric matrix of order 7 by 7 then which [2] | CO1 | Remem
of the following statement is correct '

a) Rank of matrix="7
b) Rank of matrix > 7
¢) Rankof matrix <7
d) None of these

S

_ 1 0 0
iii)The rank of matrixA=10 3 0 is
0 0 2

2] | col

A) O B)1 C)3 D) 2
iv) Non-homogeneous system of linear equations AX=Bis| [2] CO1 | Remem
consistent if : ber

a)p(4) = p(A|B)
1 b) p(4) = p(AlB)
¢) p(A)>number of unknown

d) none of these ' : i
111 : [2] Underst
v) The rank of matrix A= {0 0 0‘ is , and
~ o 0 0
A)0 B)1 C)3 D) 2
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vi) Series expansmn of cos x is [2] | CO2 | Remem
a) 1+ +75 + + S ber
x2  x* x5
b) 1- Tl + o T
xZ x4 6
o 1+5+7 T
H1-L+T Tl
vii) Series expansxon of sinx is [2] | CO2 | underst
x x7 ' and
a)x + + +o e ,
.xs x7
b) x+% ~+ — T
s
ox-E4 ot
d) x+x3 +x5 x4 ,
viii) If f(x) = sinh(x) then ‘which one of the followmg is| [2] Underst
correct and -
eX+e™* eX+e™* eX—e e"‘—e -x
)= p) = 9 d)
ix) If f(x) = cosh(x) then which one of the followmg iscorrect | [2] | CO2 Underst
X4 =X eixypeix and
a) e"+e . b +e’
= b) £
9 e"—e -x d) ex+e""
x)Iff (X) tanh(x) then Wthh one of the following is correct [2] | CO3 | Underst
eX+e~* eXye ™ and
b) ——
eii‘e—x : eX+e ¥
) — .d) ——
xi) The product of an odd and an even function is [2] | CO3 | Underst
(a) odd function énd
(b)even function
(©) Neither even nor odd function
(d) none of these
xii) The product of an odd and an odd function is [2] | CO3 Un:jierst
(@) odd function ' an
(b)even function
(¢) Neither even nor odd function
(d)  none of these :
xiii) The period of a constant function is “[2] | CO3 :J:;ierst
(@)2n(b)m (¢} O (d) Not defined
xiv) The period of a sine function is [2] CcOo3 gz:“em
(@)2n(b)n () 0O (d) Not defined
xv) The value of ao in the Fourier series of f (x) = xsinx | [2] CO3 | Remem
in 0< x< 2t is ; ber
A0  B)1 C) 2 D) -
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4 [Q. |Attemptany two of the following

2 q
a) fu= (x2+y2+z ) then find xuy + yuy + zu, [s] CO4 | Apply
— _ 1 (VEHT [5] | CO4 |. Apply
b) u = cosec "\3z735/) then find x + y ay
——-—‘————Fi .
¢) fu= tan™ ( ) then find x + y 2 ay (sl CQ4 APP'V.
Q Attempt any two of the followmg
3 »
a) If f(x,y) =xy (a—x—Yy) then find stationary points [8] | CO5 | Underst
| . and
— auv) 5 COS5 | Underst
b) u= x2—y> and v = 2xy thenfind 70578 51 |. e
c)Find Maximum value of [5] | COS5 | Underst
Fly)= %+ 3xy? — 3x2 —3y* +4 : and
Q. |Attempt any two of the following
4 .
/2 [5]1 | CO6 | Underst
a) Evaluate: f tan 6d0 _and
0
oo [5] | CO6 | Underst
b) Evaluate: f X x% dx , : and
0
o dx [5] | CO6 | Underst
c) Evaluate: — dx .
) : 1 +x4 _and
0 .
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